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Use the graph below for #1-6.
'

.‘ t s} ‘\bt)*t.'ll&m\“

e oS ..-;“

sy vy

W v\ e \Na_

1. Is the graph quadratic, linear, or neliher%‘
GuadreitiC

2. Whatis the vertexz (|, q_)

Is it @ maximum or minimum?2

WAL, g N= -4

3. What is the domain?

B vl vuwemlbaed
4. What is the range?®
Y2 -4
5. What is the axis of symmetry2 | .
U~ 1S aund
x=-9 C.y=1 X =

.x-l

6. What are the roots? X= -9, end. X2 H

D.y=-9

Use the equationy = —x2+ 2x+ 3 to
answer #9- 13,

9. What are the zeros?

B{-1.3)

D. {-1, -3}

A. (1.3}
C. {0, 0)

10. What is the vertex2 (\ ,“\)
11. What is the axis of symmeiry? = \
12. What is the domain?

. real b
13. What is the range? \ LK

14. What are the solutions to,quadratic
Ao

function below? \ .
(oo for ey N= O swank sehwiang MLK-\(\'S)

X 0 1 2 3 4 5 6

Y o) 0 -4 1-6 1-6 (-4 |0

T Vi ¥y T
15. What are the x intercepts of the
quadratic function below?

={x+8)2 (-% 10)

7. What is the quadratic parent function
equatione \’ = )(3

8. Graph the quadratic parent function.

- »
4947 IR EEER S

-

.
LR R R T L vy

16. Skeich a paraboia
with two soiutions.

17. Sketch a graph
with no solutions. K]
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18. Sketch a graph
with one solution.




Identify if the following are linear,
quadratic, or neither for #19-22.

19. I X [-6[-5T-4[-3]271-1Jo
Yy 1715 3 5135
(Plot Pw. powdts)  Livweae
2. : W enax
':"1'7:"}':'"?:::%_'-
2.y = x3+2 Weirhag
22.y=3(x+1)2-2 Quedadic
6, «

. L T
23. If the axis of symmetry is x = -3 and an
x intercept is 0, what are the solutions to
the quadratic graph? A
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24. If the following two points are on a

parabola, what is the axis of symmetry?2
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25, Describe the transformation from the
quadratic parent function to y = ;xz -2.
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D). wekes e y=R
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26.Ify=x2ischangedto y = —x2 + 6,

describe the transformations.
N= - ')(3“ o openg v Yo oppasite
et ga Lopews tlowm) cund 13
ERA up b wnirs Grgen y=x*
27.1F f(x) = x* + 2 is fransformed to create
the quadratic function g(x) = 3x2 -4,
what transformations took place?
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28. If the graph of y = -;-xz + 4 is made

narrower and translated down three uniis,
which of {he following is a possible
equation for the new graph?2

Ay=2x32+7

y=2x2+1

C.y=§x2+1
D.y=x2+7

29. i the graph y = —3x2 is transformed so
it opens up and is wider, which of the
following is a possible equation for the new
graph?

Ay= —x?

®)y=1x

C.y=3x?
D.y= 5x°

30.Ifthe -5in y = —x? - 5is changed to a
positive number, what is the effect on the
graph?

A. The graph gets wider

B. The graph geis narrower.,
The graph translates up.

D. The graph is reflected.
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